Number Systems

Conversions

BaseX






BaseY

Base10

Example: 3456 = ?10






Example: 235110 = ?12
(3*62) + (4*61) + (5*60)
=
2351 ( 12 = 195 R11(B)

108 + 24 + 5 


=



195  ( 12 = 16  R3

13710








16   ( 12 = 1   R4










1    ( 12 = 0   R1


means stop










line up remainders lft. to rt. = 143B12
Friendly Computer Bases
(no "math" required)

Base8






Base16

Base2

Example:








Example:

   735148 = ?2





B902E16 = ?2



111 011 101 001 1002


1011 1001 0000 0010 11102
Note: These examples work in reverse as well – just follow the arrows backwards.

a) Place Values 


b) *


c) +





a) divide like mad


b) line up remainders





Groups of 3





since 23 = 8





Groups of 4





since 24 = 16








